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Example Candidate Responses — Paper 2

Introduction

The main aim of this booklet is to exemplify standards for those teaching Cambridge International AS & A Level
Accounting, and to show how different levels of candidates’ performance (high, middle and low) relate to the syllabus
requirements. This document helps teachers to assess the standards required to achieve marks beyond the guidance
of the mark scheme.

In this booklet candidate responses have been chosen from the June 2023 exam series to exemplify a range of
answers.

For each question, the response is annotated with examiner comments about where and why marks were awarded or
omitted. This is followed by comments on how the answer could be improved. There is also a list of common mistakes
and guidance for candidates for each question.

Please refer to the June 2023 Examiner Report for further details and guidance.

The mark scheme is available on the School Support Hub

9706 June 2023 Question Paper 22

9706 June 2023 Mark Scheme 22

Past exam resources and other teaching and learning resources are available on the School Support Hub



http://www.cambridgeinternational.org/support
http://www.cambridgeinternational.org/support

Example Candidate Responses — Paper 2

How to use this booklet

This booklet goes through the paper one question at a time, showing you the high-, middle- and low level response for
each question. In the left-hand column are the candidate responses, and in the right-hand column are the examiner
comments.

Example Candidate Response — middle Examiner comments

1 JLimited's financial year ended on 30 September 2022. The following balances were available on
this date.
c The candidate presents
3 s the statement of profit or
8% Debentures (2025) 100000 | “ loss clearly. However, some
Administrative expenses 28000 + S c narratives are incorrect and an
Distribution costs 57000 incorrect profit for the year has
Dividends paid 21000 been given. As clear workings
Finance costs 4000 are given although a mark is
inventory at 1 October 2021 54000 Iost.for an om|tt§d item, they still
—— ol sharos o $0.50 sach st | 420000 achieve the profit for the year
= | fodober 2021 oo eane mark on an own figure basis
Non-current assets at 1 October 2021 as it has al§o.been correctly
oo 1300000 labelled. It is important that
candidates correctly label each
=] ieinm far daneocintioe Se0000 (
. : - Examiner comments are
Answers are by real candidates in exam conditions. .
alongside the answers. These

These show you the types of answers for each level.
Discuss and analyse the answers with learners in the
classroom to improve their skills.

explain where and why marks
were awarded. This helps you

to interpret the standard of
Cambridge exams so you can
help your learners to refine their
\exam technique. )

How the candidate could improve their answer

(a) The narratives and format should reflect the fact that it is a limited company therefore, for example, opening
inventory, purchases and closing inventory should have been shown as one item of cost of sales. Some expenses
were incorrect but marks were awarded from the workings shown.

(b) The answer was Clea_r and only one item was missin This section explains how the candidate could have
balance of retained earnings.

improved each answer. This helps you to interpret
the standards of Cambridge exams and helps your
learners to refine their exam technique.

Common mistakes and guidance

(a) Not displaying workings and not showing the correct narratives for items in financial statements. It is important
for candidates to have lots of practice completing final accounts for different types of business to ensure they use
the correct formats. Displaying clear workings should be encouraged.

(b) Not displaying workings. Marks can be awarded fro
for candidates to show all their workings. It is important
accounts.

This section lists common mistakes as well as
helpful guidance from the examiner. This will help
your learners to avoid these mistakes. You can
use this alongside the relevant Examiner Report to
guide your learners.




Example Candidate Responses — Paper 2

Question 1

Example Candidate Response — high 1 Examiner comments

1 JLimited's financial year ended on 30 September 2022. The following balances were available on

this date.
%
8% Debentures (2025) 100000
Administrative expenses 28000
Distribution costs 5?60_0
Dlviqends_ paid 21000
Finance costs 4000
Inventory at 1 October 2021 54000

Issued share capital: shares of $0.50 each at 420000
1 Qctober 2021

Non-current assets at 1 October 2021

Cost 1300000

Provision for depreciation 260000
Purchases 460000
Retained sarnings at 1 October 2021 125000
Revenue 869000
Share premium at 1 Ottober 2021 210000 |-
Trade receivables 83000

The following additional information is avaflable.
Inventory at 30 September 2022 was valued at $57 000.

1
2~ The balance of the account of a credit customer, $3000, should be written off as irrecoverable
and charged to administrative expenses.
=

The directors have agreed to create an allowance for irrecoverable debts of 5% of trade
receivables. The allowance should be charged to administrative expenses.
4 Debenture interest for the second half of the year Is outstanding.

5 Non-current assets should be depreciated at 20% per annum using the straight-line method.
Depreciation should be allocated as follows:

Administrative expenses 60%
Distribution costs 40%
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Example Candidate Response — high 1, continued Examiner comments

REQUIRED
{a} Prepare the statement of profit or loss for the year ended 30 September 2022, Use the space

provided to show your workings. .
a The question relates to a
J Limited a

Statement of prefit or loss for the year ended 30 September 2022 limited company. This cand@ate
has an excellent understanding of

$ the production of a statement of
T o P-u.-e.mw- ok 368000, profit or loss for a limited company.
e Lew cost of Sodin (Susour Yhosrs = Shans). (Yt 000) They have the correct narrative for
. 4 each item to be displayed in the
SR — Ql’*"i&m ---------------- : 412000 correct order with full workings for
,,: SR .03 ¥4 S 2SSO B0 (1 ST W Mark for (a) = 11 out of 11

'—u,g,n_?ﬂk!(%]-tw s ...(inn_caj
] SO WO . ¥- .- T 0

Workings:

Administrative expenses

28000 4 Tt oo +-{-£,_,-._;E$ ['fouo + [YEors = 191000
CY-CLEET “

ga ' ﬂ'i Eﬁouph 2 _l'f;:ﬁuu

Distribution costs

2o ‘{ 10000 = 2dooso
Yo/ ﬂdoz-f;ﬁﬁ’”' z J‘Ff?lfoan
maaa 3 1o t[’.:.!:c: 7 }g]'&e?




Example Candidate Responses — Paper 2

Example Candidate Response — high 1, continued Examiner comments

Additional information
The directors found that the following transaction had not been recorded in the books of account:

On 30 September 2022 the directors had made a bonus issue of 2 ordinary shares for every
3 shares held. The dirsctors had decided to maintain reserves in their most flexible form.

REQUIRED

(b} Calculate the balance of retained eamings at 30 Sepiember 2022 following the bonus issue.
"ih‘ﬂ' %Hbibl

,..@.:'::?...ﬂﬁ,.:.,.,.ﬁmm.n Shasta. 2. Btoreet el
’D‘NM (2'{9'&01 BlYe “"'.?F,,,,.q??.-. {5 qa_n_a.n.......o
. s
ri‘-ﬂ‘w’t (2000 Slovoo  ~ 9Qoees

28se00 -Uesses
Izrqna--'z,'pnu+f2¢u-p —’?‘v'.n prmmmm—” — "

L%éaam c fadid 1

. [E]

(¢} State one reason why the dlractors of a company might decide to make a bonus issue.

demtibics taonpane hoseannsd o @n”qﬁ wd
wanals e !r_.z.u-l'-u.nl Ml\.nldw.; bu.’t‘ ff\_a,.o "o M .1

(d) Explain one reason why trade payables and potential lenders might approve of a company
making a bonus issue.

F“-:jh'j f"‘w ;J'wuL%ﬁJ
....... wﬂﬁ@wwwp—jﬂ%mﬁ

. T,l&zjl m.:ﬁ -J».sa eonalder qﬁ; cethes o e bupenge
,!;ra

aé A gkt m ....... 4 Mﬂ‘\w*a ..... sho wUrmHu ........... 4

&)

e The balance of retained
earnings is correctly calculated with
full workings. This demonstrates the
importance of displaying workings in
their answer.

Mark for (b) = 6 out of 6

0 In the narrative questions
relating to a bonus issue and

the payment of a dividend, clear
concise responses are given to the
specific question. Where more than
one point is required, the relevant
number of points are given in their
answer.

Mark for (c) = 1 out of 1

Mark for (d) = 2 out of 2

Mark for (e) = 3 out of 3
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Example Candidate Response — high 1, continued Examiner comments

Additional information

The directors of J Limited wish to improve the company's Hiquidity, They will choose ane of the
following options.

Option 1: allow trade receivables a cash discount of 5% for payment within 20 days.

Opticn 2: make all purchases on cradit from a different supplier whe is prepared to offer a trade
discount.

REQUIRED

{fy Advisa the directors which optiori they should choose. Justify your choice by discussing both
options.

A lade Secevable aue mﬂom ool L cound.

;/wf with cndonus w .
wv“ le  lep  edonoes vf M‘,,Mz‘ «uJ

the  Apestvabler ﬁgmm will. -m.a}a:mm,...t.wmw

He  bu o dd de % ks, relates to giving advice to the

directors of the company by

5 .
ard 2 uptu.cll‘ﬂ +n ﬂ.w{,d For:imm l a oThe last part of the question

Ll w{‘ 1 w4 }uf- M} Agd em ?.:,.;ﬂ.t ................... discussing two options. This
Y ku_ _______ h.q,. ________ ;j"’-ra W da? candidate discusses both options
X R@ju' """"" S'M““ ‘i j” giving clear point. Finally they make
'J»L theae nh:r‘ 'ﬁ‘w M e e a decision which option should be
forpany ol sidie o W%r%dwdl chosen.
R B bore Mark for (f) = 7 out of 7

.}u '"-“-ﬂ‘@ﬂ&ﬂ B mﬁ-fumu.apwdﬁj.h
sidaian. Aediadole, T 22 Tumprene el

B Pty o nere Alddenda Total mark awarded =
...... paatlns  bunarare ) el tamealory o 30 out of 30

How the candidate could improve their answer
* This candidate had an excellent answer with clear workings so no improvement was required. Excellent example
throughout.

¢ (f) The candidate was not penalised for referring to bad debts rather than irrecoverable debts. However, the most
up-to-date terminology should be taught as shown in the syllabus.
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Example Candidate Response — high 2 Examiner comments

1 JLimited's financial year ended on 30 Septernber 2022. The following balances were available on

this date.
§
8% Debentures (2025) 100000
| Administrative expenses o 28000
| Distribution costs 57000 |
+| Dividends paid 21.000
Finance costs 4000
Anventory at 1 October 2021 | 54000
Issued share capital: shares of $0.50 eachat | 420000
1 October 2021 .
.~ Non-current assets at 1 Octaber 2021
Cost | 1300000
*| Provision for depreciation 260000
|Purchases - _ ' 480000
| Retained earnings at 1 October 2021 125000
JARevenue 862000
# Share premium at 1 October 2021 210000
Trade receivables 83000

The following additional information is available.
~¥  Inventory at 30 September 2022 was valued at $57000.

\2’/ The balance of the account of a credit customer, $3000, should be written off as irrecoverable
and charged to administrative expenses.

& The direclors have agreed to create an allowance for irrecoverable debts of 5% of trade
receivables. The allowance-should be chiarged to administrative expenses.

4  Debenture interest for the second half of the year is outstanding.

5 Mon-current assets should be depreciated at 20% per annum using the straight-line method.
Depreciation should be allocated as follows:

Administrative expenses  60%
Distribution costs 40%

10
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Example Candidate Response — high 2, continued Examiner comments

REQUIRED
(a). Prepare the statement of profit or loss for the year ended 30 September 2022, Use the space
provided to show your workings.
J Limited a
Statement of profit or loss for the year ended 30 September 2022 a The first part of the question

3 is well answered with the correct
narrative for most items to be

Keenve..... . 869000 | displayed in the correct order
(,ng : C@L‘J‘ (j - ,SQ_LM Cg qg 0.9+ lﬁﬂﬂQO j%ﬁ?ﬂ'ﬂj m with full clear workings for the

adjustments. The only error is

Gq‘(‘OSS %f‘éd et 412.000... | that the narrative for profit from
g}, ,1 operations is incorrectly shown as
bz admarsatrative tpera€s wi) . luaiooo). e oot i 1s rortont that
s did !.qubvh on wﬁfé(wz)ﬂﬁmaal candidates understand the format
for each type of organisation with
Orp anﬂ me de 460.00.0.. the correct narrative required for

..... (ade. finames...cost (100000%.8.2:).... | (3000). | each tem.

F/\Qﬁf fm, the Jeon ' £2000 Mark for (a) = 10 out of 11
Workings:
Administrative expﬁses ;,{,e.P- 1300 000A 207.
wi: $28000 +156000+ 3000+ Y000 — 960 000
= 141000 xb07
=156000

F}d: #3000 - z000
=B0000x £

. . _ =40 D0
Distribution costs dep ':.qu % ?ou
X
W23 67000+ 104000 " 104006

=16{000

11
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Example Candidate Response — high 2, continued Examiner comments

Additional information
The directors found that the following transaction had not been recorded in the books of account:

Cn 30 September 2022 the directors had made a bonus issue of 2 ordinary shares for every
3 shares held. The directors had decided to.maintain reserves in their most flaxible form.

REQUIRED

(b) Calculate the balance of retained eamings at 30 September 2022 following the bonus issue.
4420000 7 $0-50 - 8400 L R —

Re¢ 70000 Eei'aq_g._zdmrwmhwzm: 115000
050 qgoogg {446 s devidend pa (1;000)
. ks bons GSUE (%p00)

..add; wa‘ffﬂ"?m 52000 .....
thxmzi LORInGS ﬁfaosfp w12 96000

- Mark for (b) = 6 out of 6

(¢) State one reason why the direciors of a onmpany might decide to make a bonus issue. e e The candidate gives ambiguous

5‘0 &ﬂptf& e By CJ%DLHL ABCVES howtvel answers to the prose questions.
Th i | derstandi
li"wr[i ,rwt i_thF ,{—,u Eiu‘fy Df WW%‘:’]‘ ere is no clear understanding

shown of the effect this would have

(d) Explain one reason why trade payables and potential lenders might approve of a company on trade payables or lenders.
making a bonus issue. and [o Mark for (c) = 0 out of 1

Tcads poy abley "mwﬁappwvf? Lompany of
ravy o bonus BSVE  pp it w[!ﬁ Lhehdode.
the mpak&lm&vvfa wm an}j well bt

mﬂiﬁ ﬁﬂﬁﬂf!&ﬁfﬂ' 8&%!.{2 oah /_ P fﬁ?ﬂdﬂg}%$3 1 Mark for (d) = 0 out of 2

{e) Identify three points the directors should consider when deciding whether to pay a dividend.

v Gpedodions of e shavaholdews

wwfn,uf Lwewee wmzab& tcn
».Compamyb plofics. | Mtk for (6) = 2 00t of 3

12



Example Candidate Responses — Paper 2

Example Candidate Response — high 2, continued Examiner comments

Additional information

The directors of J Limited wish o improve the comparny’s liquidity. They will choose one of the
following options.

Option 1: allow trade receivables a cash discount of 5% for payment within 20 days.

Option 2: make all purchases on credit from a different supplier who is prepared to offer a trade
discount, '

REQUIRED

{f) Mulse the directors which option they should cheose. Justify your cholce bydiscussing both

{}phuni will encousagl ¢ PO INLA 9
by Ehe v bomus which will “mphove the .
mhf-éom Dﬁblam mfxg mﬁ%mn&mg HJ -

dtw};é HW;; will nol &ecceve amy dmr:mmfa )
wfur:,h mgdﬁmoﬁz Ve bham Couusihg U%m 59
20 hj wmpﬁhfﬁm teacing to f—O"’J’ Of
pﬂ?&fﬁnhai cUelomgss - Option 2 will merovf'
the Iquidinyg of the Bompar

ru::i’ b@ awdaafﬂ obh Udb#/fiwx

Wwhith pa
company
Directoss. Should chopse. oplionban...
¢ will aldo ALy H?i mAKg

bad. dobts_ond. businddd...aidl. }amf?

ULPU? widh.. o CU/g _ )

udqu the

andl company v olio of ?ﬂmd a Ehade dmmm

e For the final part, the candidate
gives a clear decision but for the
second option they are not clear on
both the benefits and disadvantages
of changing supplier. In this type

of question, where two options are
given, it is important that candidates
can see both the benefits and
disadvantages of each choice.

Mark for (f) = 5 out of 7

Total mark awarded =
23 out of 30

How the candidate could improve their answer

* (@) The narrative for profit from operations was incorrectly shown as operating profit; it is important to have the

correct terms for each item in the statement of profit or loss.

* (c) Aclear understanding of the reasons of a bonus issue such as reward/satisfy shareholders, insufficient liquid
funds to pay dividend or utilise capital reserves could have improved the answer.

* (d) The answer needed to focus on the point of the question which was how trade payables and potential lenders

might approve.

* (e) Three separate points should have been given in the answer and duplication should have been avoided.
* (f) The candidate should have included both positive and negative points for both options.

13
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Example Candidate Response — middle Examiner comments

1 J Limited's financial year ended on 30 September 2022. The following balances were available on

this date.
$

8% Debentures (2025) 100000 | 4OCS
Adminisirative expenses 28000 1 2
Distribution costs 57000
Dividends paid 21000
Finance costs 4000
Inventory at 1 October 2021 . 54000

lssued share capital: shares of $0.50 each at 420000
1 October 2021

Mon-current assets at 1 October 2021

Cost 1300000
Provision for depreciation 260000
Purchases 460000

== | Retained eamings at 1 October 2021 125000
Revenue 869000

= | Share premium at 1 October 2021 210000
Trade receivables 83000

The following additional information is available,
1 Inventory at 30 September 2022 was valued at $57 000.

2 The balance of the account of a credit customer, $3000, should be written off as irrecoverable
and charged to administrative expenses.

3 The directors have agreed to create ar allowance for irecoverable debts of 5% of trade
receivables. The allowance should be charged to administrative expenses.

4 Debenture interest for the second half of the year is outstanding.

5 Non-current assets should be depreciated at 20% per annum using the straight-line method.
Depreciation should be allocated as follows:

Administrative expenses  60%
Distribution costs ‘ 40%

14



Example Candidate Responses — Paper 2

Example Candidate Response — middle, continued Examiner comments

REQUIRED

{a) Prepare the statement of profit or loss for the year ended 30 September 2022. Use the space
provided to show your workings.

J Limited
Statement of profit or loss for the year ended 30 September 2022 “
$
Beven2 ST M. < oo o)
ess: Ow:% ‘33@3‘ O
%éd?u et D0
e SRS, Eroed |
Groswr e N 200G
\-QQI?)! EK?E,A%CS-----u-‘-----u--.r.............‘... . ! rmmm e
MRS e i8T000
o o T A ~1{ ole.e 3
Operanen ‘P‘Gﬁ"f e SO0
st ioenete Juteest (ocoox B abln) . |(4o00)
v o e G000
polic et B
Adminisirative expenses
s per e \.olawce RO D
WEDE cOl—de  delst 200D
Deprication (360000 x &5/ ) \Geoo0
1200000 ¥20/. \8I00©
= 260000
Distribution costs
Ps P Mo Raemlonoe SO0

Oep Ao (26.0xY0] ) AcN000
(A Tslole

a The candidate presents the
statement of profit or loss clearly.
However, some narratives are
incorrect and an incorrect profit for
the year has been given. As clear
workings are given although a mark
is lost for an omitted item, they still
achieve the profit for the year mark
on an own figure basis as it has
also been correctly labelled. It is
important that candidates correctly
label each item in the statement

to gain full marks, for example
operating profit should have been
labelled as profit from operations.
Mark for (a) = 7 out of 11

15
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Example Candidate Response — middle, continued Examiner comments

Additional information
The directors found that the following transaction had not been recorded in the books of account:

On 30 September 2022 the directors had made a bonus issue of 2 ordinary shares for every
3 shares held. The directors had decided to maintain reserves in their most flexible form.

=
REQUIRED K

(b) Calculate the balance of retained earnings at 30 September 2022 following the bonus issue.
YO0 ¥ 8000 ~ 210000 = FHooo o

.Eﬂ‘}&“te bkd ALY =1 N—

- [8]
(c) State one reason why the directors of a company might decide to make a bonus issue.

(d) Explain one reason why trade payables and potential lenders might approve of a company
making a bonus issue.

r\mﬁ Qe it wecoute it o Qowvote
L &«dh*tkabu%e%%

(e} Identify three points the directors should consider when deciding whether to pay a dividend.

WQ’ ®. ws;xda Wy ove ove L«

Ot~k

2. Iw\e»j Gowid Cmsidex Whetler @y co a0
2OndS, (ee o Nl & o Mﬁ—ﬂl

aloud @nedled (Dhettex tleve toiU, Lse P‘Tt‘

e

e The calculation of the balance
on retained earnings is incomplete
as the dividend paid has been
omitted. Reading the question very
carefully is important to ensure
every item is covered.

Mark for (b) = 5 out of 6

o The narrative questions have
all been attempted with some
success. It is very important that
candidates do attempt narrative
questions, reading questions
carefully to ensure they give the
relevant numbers of points.

Mark for (c) = 0 out of 1

Mark for (d) = 0 out of 2

Mark for (e) = 1 out of 3

16




Example Candidate Responses — Paper 2

Example Candidate Response — middle, continued Examiner comments

Additional information

The directors of J Limited wish to improve the campany's liquidity. They will chobse one of the
following options. »

Option 1: allow trade recelvables a cash discount of 5% for payment within 20 days.

Option 2: make all purchases on credit from a different supplier who is prepared to offer a trade

discount.

REQUIRED 0 a For the last task the candidate

(f) Advise the directors which option they should choose. Justify your choice by discussing both has given clear advice about
options. which option to take, but has been

%{“M@j oboose BPED @El@h vﬂn‘j;?m}mg@! Qo e Otvatied less clear about the advantages

and disadvantages of each being

kA =3 iﬂnm v‘%mos s &\m somewhat contradictory in their
\oerer !p. o K@&mo?-cmmﬁﬂhceg B answer.
Ctud-'j Mark for (f) = 6 out of 7

mde«la('m v:eﬁcﬂ L&M%ube tmre ﬂm&&&@%wj
Ccogl e~ \..L'NE.\_ qg:mce‘na_ valbe | 1ema_aie=rleQ ﬂ_.ea&?

b&weﬁ——m*%“@- 15, f»c@iﬁ@ Golidhwtd
vmﬂmﬂmblgm Sl So*:tf"'\ﬁ'j feete nof mpxcee us-[mcﬂl
¥xed LS CAUSMAP =T e I i

E‘-\‘d"o‘@.. o

Jwould asbice o chookc ¢ mv»:! agit x‘s mere.

oL@ In prece. Lcagﬂj e, Quick ile

Fom. ryeceble houal, dt&:@—f LDIU q'%
Total mark awarded =

17



Example Candidate Responses — Paper 2

How the candidate could improve their answer

(a) The narratives and format should reflect the fact that it is a limited company therefore, for example, opening
inventory, purchases and closing inventory should have been shown as one item of cost of sales. Some expenses
were incorrect but marks were awarded from the workings shown.

(b) The answer was clear and only one item was missing. It is important to include all relevant items to arrive at the
balance of retained earnings.

(c) A clear understanding of the reasons for a bonus issue such as reward/satisfy shareholders, insufficient liquid
funds to pay dividend or utilise capital reserves would have improved the answer.

(d) The answer needed to focus on the point of the question.

(e) The candidate should have been careful to ensure three separate points were given in their answer and there
was no duplication.

(f) Negative point for option 2 of not being offered much trade discount is too weak to be considered a negative so,
overall, the answer needed more balance for full marks.

Common mistakes and guidance

(a) Not displaying workings and not showing the correct narratives for items in financial statements. It is important
for candidates to have lots of practice completing final accounts for different types of business to ensure they use
the correct formats. Displaying clear workings should be encouraged.

(b) Not displaying workings. Marks can be awarded from workings going into an answer, therefore, it is important
for candidates to show all their workings. It is important to remember which items need to go in each type of
accounts.

(c) Candidates needed to learn the reasons behind both bonus and rights issues of shares.
(e) Not giving the required number of points or duplicating very similar points which could be rewarded only once.

(f) Not giving positive and negative points for both options, not making a decision about which option to choose, not
presenting their narrative clearly and changing from one option to another throughout their answer.

18
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Question 2

Example Candidate Response — high Examiner comments

2 Rudra prepares bank reconciliation statements for his business at the end of each month.
a The question relates to bank

REQUIRED oM ] )
reconciliations. This candidate
(a) State thrag reasons why it Is important to a business to prepare bank reconciliation statements has an excellent understanding
at regular intervals. K
of the reasons for preparing bank
1. Jo. determine,. adthwetical accus. ‘Mﬁj ""f Ibe.. reconciliations. Their reasons are
.u_’b_u&\nes-& ¥ o08.0eXIRNS. e clearly presented and listed.

2. Bank.\s..an. mr.\.apam&en’f‘m;'&é oné mm?m't Mark for (a) = 3 out of 3

uris
bus.\mﬁsg@m‘ﬁ;m waitn 1, s nelpfal 1n proventingy 0‘*&-
3. Theff,....m....nrmna.....&tqnm:_ﬁana Alke. . awedy | delit

%mm Scdes u;h\d\ are. deal 20k
‘& bﬂffi.-m‘aﬁi ﬂé&&*‘cﬂ it the comhi@
shouwd c:x%mr amdynt
Additional Informatlon

On 31 March 2022 the balance shown in the business's cash book (bank columns) was
$30807Gverdrawn. This did not agree with the balance shown on the business's bank statement on
this date. The difference in the two balances was accounted for by the following:

1 Rudra had omitted to record a direct debi for water charges of $442. &~

2 There were unpresented chequas: TK Stores $482, RH Supplies $1043. BRsS -+

3 Bank charges, $85, appeared on the bank statement but had not yet been recorded in the
cash book. . —

4 Rudra had debited the cash book with cash takings, $893, but this had not yet been recorded
by the bank. Peanle —_

5 A cheque payment to Peter, $320, had been comectly recorded in the bank statement, but
had been entered In the cash book as $230. — C_ a0

6  The-bank statement included ap entry for a dishonoured cheque for $582 received by Rudra
from-Jamia, No entries had been made in the cash book to record the dishonoured cheque. —(C_

7  An error had been made in the cash book. Interest received, $225, had been comectly
recorded in the bank statement, but had been credited in the cash book.

+ WSo
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Example Candidate Responses — Paper 2

Example Candidate Response — high, continued Examiner comments

e e The preparation of the updated
cash book balance is well presented

with clear account names and
amounts with the balance brought
down correctly. Only one error is
made on an account name. The
narrative/details should relate to the
account that would be affected by
the double entry, i.e. water charges
not direct debit.

Mark for (b) = 5 out of 6

o o The bank reconciliation is

well presented, clearly identifying
the overdrawn balance from the
cashbook and working towards
the balance as per bank statement
correctly.

Mark for (c) = 4 out of 4

(d) Define each of the following terms: @ @ The last part of the question
() unpresented cheque requires the candidate to define

, . o both an unpresented cheque and

Lhﬂ-ﬂl,s!-‘*& Hoctt. have... heen. paid. !b:j The. busines, a dishonoured cheque. Both are

E:_\jt‘ hgﬂghgt heen. f\ﬂ,ﬁ.ﬂﬁd N oed! j_tqrs. oo clearly and correctly defined in clear
- cind hence MR iy e bonle statemert, handwriting.

() dshonoured checus. Mark for (d)(i) = 1 out of 1
When o cusiomeyx. L’rmcf.g Yesenable). pays...0 chegqpue

that. bes. Insutficient fu woc .3 “hm& Js.3emk 11

ok fo Wen TThis cheope Mark for (d)(ii) = 1 out of 1

Total mark awarded =
14 out of 15

How the candidate could improve their answer

(b) The candidate should have given the correct narrative details for the accounts involved in the transactions.
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Example Candidate Response — low

Example Candidate Responses — Paper 2

Examiner comments

2  Rudra preperas@nk Pacnndllalloﬁm for his business at the end of each month.

REQUIRED" c

(a) State three réasons why itis important to a business to prepare bank reconciliation statements
at regular intervals. :

roTk hetps Yo _debeck  econ  ond frvendd, o
2.3k \ead ‘owimess ‘o aoin  accuiske Kool
ek b make decistoma.

bmlﬁ‘w—*w‘v}%mr.,pmuiim\'haé*wiwhwm

Additional information

Qn:ﬁj—-MSPéh the bala'hce showré in the business's cash book (bank columns) was

3060over . This did not agree with the Dalance shown on the business's bank statement on

[ e

th . The difference in the two balances was accounted for by the following:
>1” Rudra had amitted to record a direct debit for water charges @f $4-4 _
@A’hem were unprésented chieques: TK Storés $482; RH Supplies $1043. (2 ¢ = ﬁ.l' S

a3==TBank charges, $85, appeared on the bank statement but had not yet been recorded in the
cash book.

Rudra had debited-the cash book with cash takings, $@but this had not-yet been recorded
by thé bank. (LCE == o518

__;,.5; A cheque payment fo Peter, $320, had been correctly recorded in the bank statément, but
had been entered in the cash book as $230. )
=
(6_=The bank statement included an entry for a dishonoured cheque fo $5§g,repelved Rudra
from Janila. No entries had been made in the cash book ta record the dishonouréd cheque.

N\T_—~#An erfor had beéen made in the cagh book. Interest received, 5225, been_correctiy
recorded in the bank statemei, but had been credited in the cashbeck”
B —

a Three clear well-presented
reasons given for preparing a bank
reconciliation.

Mark for (a) = 3 out of 3
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Example Candidate Responses — Paper 2

Example Candidate Response — low, continued

(d} Define each of the following terms:

{i) unpresentsd cheque

Reok didrk debliel veb:

(i) dishonoured cheque.

e ]

Examiner comments

Only 1 mark is awarded here
for the credit entry of bank charges
$85. For all other entries, the
details/narrative is incorrect; the
name of the account that would
be used for the double entry
transaction should be used, i.e.
error $450 the debit side should be
interest received $450.

Also, the direct debit for water
charges should be on the credit
side. Lastly, b/d $2925 credit side is
not awarded a mark as the balance
brought down should be termed
either balance b/d or bal. b/d not
just b/d.

Mark for (b) = 1 out of 6

0 The updated cash book
balance is incorrect. It should be
negative as it is overdrawn. What
follows through is the unpresented
cheques and outstanding balance
but wrong abbreviations have been
used.

Mark for (c) = 0 out of 4

o For both entries, the definitions
do not give specific details.
Mark for (d)(i) = O out of 1

Mark for (d)(ii) = 0 out of 1

Total mark awarded =
4 out of 15

22




Example Candidate Responses — Paper 2

How the candidate could improve their answer

(b) The candidate should have used the correct details/narrative in the account to relate to the account that would
be used to complete the double entry.

(c) Candidates should be careful when they start with an overdrawn balance as per cashbook as it is a negative
balance especially when they are adding or subtracting amounts.

(d) The candidate should have been specific in the fact that an unpresented cheque has been recorded in the cash
book but not on the bank statement.

Common mistakes and guidance

(a) Repeating a reason in a different way.

(b) Not using the correct details/narrative in the account to relate to the account that would be used to complete the
double entry. Not bringing down the closing balance. Candidates should always bring down balances and either
give the narrative balance b/d or bal. b/d

(c) Candidates should be careful when they start with an overdrawn balance as per cashbook as it is a negative
balance especially when they are adding or subtracting amounts.

(d) Candidates should be careful to give specific details when asked for a definition.
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Example Candidate Responses — Paper 2

Question 3

Example Candidate Response — high 1 Examiner comments

a a The candidate demonstrates
they can calculate a loss made by a
business from incomplete records,
clearly showing all workings to
arrive at their answer.

Mark for (a) = 7 out of 7
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Example Candidate Responses — Paper 2

Example Candidate Response — high 1, continued Examiner comments

o e By using a mark-up policy the
candidate calculated the revenue
for the year correctly from the cost
of sales.

Mark for (b) = 4 out of 4

e 0 Candidate clearly explains both
the advantages and disadvantages

of the business maintaining a full

set of accounting records.

Mark for (c) = 2 out of 2

Mark for (d) = 2 out of 2

Total mark awarded =
15 out of 15

How the candidate could improve their answer

The response was awarded full marks.
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Example Candidate Responses — Paper 2

Example Candidate Response — high 2 Examiner comments

c a A well prepared set of

calculations however, on completing
the capital account, a figure is
transposed incorrectly for the
drawings and the mark could not be
awarded.

Mark for (a) = 6 out of 7
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Example Candidate Responses — Paper 2

Example Candidate Response — high 2, continued Examiner comments

e e By using a mark-up policy the
candidate calculates correctly from
the cost of sales the revenue for the
year.

Mark for (b) = 4 out of 4

0 e The candidate gives very vague
answers.
Mark for (c) = 0 out of 2

o o The candidate clearly explains
disadvantages of maintaining a full

set of accounts

Mark for (d) = 2 out of 2

Total mark awarded =
12 out of 15

How the candidate could improve their answer

¢ (a) The candidate should have been careful to transfer figures correctly from the question to the answer.
¢ (c) On narrative questions, the candidate should have read the question carefully and been specific in the answer.
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Example Candidate Responses — Paper 2

Example Candidate Response — middle Examiner comments

o a Although the candidate has
an incorrect answer, they do gain
marks where correct entries are
made. Also, 1 mark is awarded for
their own figure arrived at in the
answer. Two marks are not awarded
here for an incorrect non-current
assets figure in the first working.
The second mark was lost for not
including the capital introduced of
$9000 in their calculation of profit.
Mark for (a) = 5 out of 7
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Example Candidate Responses — Paper 2

Example Candidate Response — middle, continued Examiner comments

e The opening and closing
9 inventories are treated incorrectly

by identifying closing inventory as
opening and opening as closing.
Mark for (b) = 2 out of 4

0 o Both advantages give 1 mark
overall as measuring performance
and helping decision making are
linked together as measuring
performance leads to decision
making.

Mark for (c) = 1 out of 2

Mark for (d) = 2 out of 2

Total mark awarded =
10 out of 15

How the candidate could improve their answer

* (a) The candidate should have clearly shown all workings to maximise marks.
* (c) The candidate should have been specific and stated distinct advantages.

Common mistakes and guidance

* (a), (b) Not displaying workings can lose marks for candidates so it is very important that they understand the
importance of this.

* (c) Some candidates were not specific in stating separate advantages.
* (d) Some candidates were not specific in stating separate disadvantages.
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Example Candidate Responses — Paper 2

Question 4

Example Candidate Response — high Examiner comments

a a The question relates to a

manufacturing company. The

first task requires the definition of
various terms. The candidate gives
clear concise definitions for each
term.

Mark for (a)(i) = 1 out of 1

Mark for (a)(ii) = 1 out of 1

Mark for (a)(iii) = 1 out of 1
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Example Candidate Responses — Paper 2

Example Candidate Response — high, continued Examiner comments

e The candidate correctly and
clearly calculates reapportionment
of the service departments.

Mark for (b) = 2 out of 2

0 The candidate calculates the
overhead absorption rates, clearly
works to two decimal places and
states machine hour or direct labour
hour as required.

Mark for (c)(i) = 1 out of 1

Mark for (c)(ii) = 1 out of 1
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Example Candidate Responses — Paper 2

Example Candidate Response — high, continued Examiner comments

o o The under/over absorption has
been correctly calculated displaying
all calculations and clearly states
either under or over absorbed.
Mark for (d)(i) = 3 out of 3

Mark for (d)(ii) = 3 out of 3
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Example Candidate Response — high, continued

Example Candidate Responses — Paper 2

Examiner comments

Additional information
At a second factory marginal costing is used.

A single product, Produet X, is manufactured. However, demand for this product has falleq recently
due to increased compedition.

The follewing information is available for Product X.

Par unit g . i a sl
Direct materials 22 femtrihabis = i&hn& o
Diirect labour 18 $2c = M = Ye
Contribution 20 selling prce = 4 o
Marmal capacity Is 14000 units per month. The factory is currently operating at 75% of normal

capacity. All the units produced are sald. Fixed costs per month are $56000. Moos 10
(e) Caleulate the profit for one menih.

................. > R 5.2 A,
oeal comdoukion ( $ oy 109e8) 2e 00

L Eed o Bl
L Pt doy We woath 18%e00 m

Additional information
The directors are considering two options to increase profits.
Oplion A:
bo x‘f?’. =%
= £57
2  Run & six-month advertising campaign at a east 87 $1100 per month.

1 Reduce the selling price per unit by 5%. -

3 Monthly zales are forecast to increase by 25% an current lgvals. 5
X laTee ¥ 28 II,.I" = 2682
Opion B 2 13125 unih

1 Discontinue manufacture of Product X,
2 Produce a different product, Product Y, with a selling price of $58 per unit,
3 Itis forecast that demand will ba st;h that tha factory can operate at 110% normal capacity.

Ly A o0 v e e
4  Diract material cost will increase by 10% per unit, % 24-% Mess P 15 HBL
5 Direct labour costs will memain_unchanged. However, workers will be paid an overtime
premium of 50% for all work over normal capacity. Mot unibhh = 21
—— ——
& Machinery will need some alterations which will cost $54000. Mon-current assels are
depreciated by 25% per annum. 5 2§ - o

7 The company will need to borrow $30000 to finance the cost of the machinery alterations.
Interest at 8% per annum will be charged on this loan.  1€ea = 4 {go

Ti.

= (&3 g0 uai b

6 Correct calculation shown.
Mark for (e) = 1 out of 1
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Example Candidate Responses — Paper 2

Example Candidate Response — high, continued Examiner comments

@ e For both options very clear
work displayed with all items
labelled with the calculations
displayed.

Mark for (f)(i) = 3 out of 3

Mark for (f)(ii) = 6 out of 6
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Example Candidate Responses — Paper 2

Example Candidate Response — high, continued Examiner comments

(g} Advise the directors which option they should choose, Justify your answer by considering
both financigl and non-financial factors.

..Opien. A would help adaitve bbjc.chvf ok nereased

o 0 A well-written report with
. prehl feem $1CYoee  ond Hrere wod alo be W | S ciear decision made on the

a . \igrec feubhve  contabukion af 42313135 ¥ | relevant option to choose, with both
""" o ' financial and non-financial aspects

Jgover fined  (ovh and  conddbuke 18 e profit. Te | oonsidered in full.
m_wuu,‘di' alia L;mﬂ fo betker u.hﬂl.-ﬂd:‘rﬁ‘ﬂ of tpore Mark for (g) = 7 out of 7

me"’ijm“E““'-““*‘“'* produced which
owoutdl mobvate e labow an el skl iU be

.....................................

__“'!'ﬂmh !,.h ‘Hﬁm.hq mPaut\l th:bml.rﬁf‘ IEIAILU. ‘ii'_d-u{.ﬁ _
| weemmer \o?!.bj duse o d.hmhmuhm "l- Prodisck ¥ eventhout,
ik ha.&ﬂ rm\ﬁft tenbrbultion r:md. Ane "fﬂd‘""] ""“"M he

.......................................................................................................................................

s Aasrs

Ao~ fuittee cahled & pve Bl [Total: 30)
BIu Lusi 8 pug boeesst 0 EERDY ""“'c’:"h‘
pmbi e~
Ful
fapder g vﬂjﬂh‘le? Wl gehweaTie e ke
Soer bl 3

b . et aead ;,._wm wota LgLer
wamiet fe prrewed ghete

-

Bk pececd o
e '-Mf*“-'“"!‘

voy lave ewtaren o prdutk % Total mark awarded =

30 out of 30

How the candidate could improve their answer

The candidate was awarded full marks.
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Example Candidate Responses — Paper 2
Example Candidate Response — middle Examiner comments

a a Good clear answers given for
parts (ii) and (iii), however, part (i)
a cost centre does not only relate
to a production centre. A production
centre is an example of a cost
centre not a definition.

Mark for (a)(i) = 0 out of 1

Mark for (a)(ii) = 1 out of 1

Mark for (a)(iii) = 1 out of 1

36



Example Candidate Responses — Paper 2

Example Candidate Response — middle, continued Examiner comments

o e The reapportionment of the
services departments is correctly
calculated.

Mark for (b) = 2 out of 2

9 o The cutting department’s
overhead absorption rate is
incorrectly calculated by using
labour hours when machine hours
are more appropriate.

Mark for (c)(i) = 0 out of 1

Mark for (c)(ii) = 1 out of 1
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Example Candidate Responses — Paper 2

Example Candidate Response — middle, continued Examiner comments

a ° The cutting department’s under
absorption could not gain any marks
as the candidate has not indicated
how they arrived at the $304976.
They have not displayed any
workings therefore they could not
gain own figure marks as it is not
clear where the amount came from.
Mark for (d)(i) = 0 out of 3

Mark for (d)(ii) = 3 out of 3
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Example Candidate Responses — Paper 2

Example Candidate Response — middle, continued Examiner comments

e e Candidate gives clear

calculations.
Mark for (e) = 1 out of 1
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Example Candidate Responses — Paper 2

Example Candidate Response — middle, continued Examiner comments

0 e This is a good attempt. In

option A, the original fixed costs of
$56000 per month are omitted. In
option B, although the original fixed
costs have again been omitted, the
candidate is not penalised twice
for the same error. However, an
extraneous item of loan $3000 is
included as a cost therefore losing
them their own figure mark for their
final answer.

Mark for (f)(i) = 2 out of 3

Mark for (f)(ii) = 5 out of 6
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Example Candidate Responses — Paper 2

Example Candidate Response — middle, continued Examiner comments

0 0 The task requires both financial
and non-financial factors. The
candidate relates their answer
mainly to the financial aspects with
minor comments on the effect of the
advertising campaign. Much of the
answer is restating facts given in
the question and no clear advice is
given.

Mark for (g) = 2 out of 7

Total mark awarded =
18 out of 30

How the candidate could improve their answer

* (a)(i) The candidate should have given a clear definition or an example.

* (c)(i) The activity with the greater number of hours should have been chosen for the calculation.
e (d) Itis very important to show workings to maximise marks.

* (f) The candidate should have shown the workings.

* (g) They should have been careful to give both financial and non-financial points, make it clear which option should
be taken.
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Example Candidate Responses — Paper 2

Example Candidate Response — low Examiner comments

4 K Limited iz a manufacturing company which has two production depariments and ohe service
department at one of its factories. At this factory abserption costing Is used. :

REQUIRED _ _
a a Vague answers given for (i)

and (ii). Clear definitions need to be
(i) costcentre given.

Leer. Lenbres. Gre.... e oose of siivere. Cosls. Qe ppanitnl. i, Mark for (a)(i) = 0 out of 1
(i) allocation of overheads _
Plocken. of overends. 15, udeen. Lie.. Sppad.. Yhe 4. Gosls. Ja.....
B € S 1 | Markfor (a)(ii) = 0 out of 1
(iii) .apportionment of overheads.
Kl on. e besie. e Cosis. ove. @l\erared. b cosk.. Conres ...
Additional information

{a} Define each of the following terms:

Mark for (a)(iii) = 1 out of 1

The following budgeted information is available for the year ended 31 August 2022,

Production departments .
Cutting | Finishing | Service department
$ 3 $
Factory overhéads | 273820 189240 31350
The service department’s averheads are reapportioned on the basis of the number of employees
in each production department.
Cu‘t!_ing départment | Finishing department
Number of employees 125 84 o

C= 122 4 qy350 > 12790
205

F= €Y %3m0 = 2w
2o
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Example Candidate Response — low, continued

REQUIRED

(b} Reapportion the service department’s overheads to the production departments. e

Cutting department | Finishing department | Service department
$ 5 L
Factory overheads | 273820 189240 31350
Reapportionment VRBTRO XNl (2 13%‘2;'__‘
Total overheads 29259 201840 —

(2
Additional information

The following forecast information is available for the year ended 31 August 2022,

Cutting Finishing
department department
Direct labour hours per annum 9400 7420 0
Machine hours per annum 17900 3840
REQUIRED
(c) Calculate an appropriste overhead absorption rate. correct to two decimal places, for each
praduction department:
{i) Cutting department
enm N 2. 2092830 = 6035 Inedee B
UURTN 11T~ 00 XSO 0 . = o NSO ¢

(ii} Finishing department.
w2lan  soe\me. = 2 e N

Example Candidate Responses — Paper 2

Examiner comments

e Correct answers all clearly
presented.
Mark for (b) = 2 out of 2

0 The candidate uses correct
figures in calculations however for
the cutting department the rounding
of the answer to two decimal
places is incorrect. The answer is
16.344692 therefore to two decimal
places that will give $16.34.

Mark for (c)(i) = 0 out of 1

Mark for (c)(ii) = 1 out of 1
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Example Candidate Responses — Paper 2

Example Candidate Response — low, continued

Additional information

The actual results for the year ended 31 August 2022 were as follows:

. Cufting | Finishing
- department department
Factory overheads $312600 193400
Direct labour I'!cmrs 9800 7210
Machine hours 17200 4220 6

{(d) Calculate the under-absorpticn or over-absorption of factory overheads for each production
department for the year ended 31 August 2022,

(i) Cutting depariment
ﬂh’i’.x:t.".fs.twer},.i..L%tfﬁ?ﬂ,k..@s&ml_ﬂcﬁuhﬁ:..I?ch\amkﬁbxﬁmw,.,,,,,.,.......,,.,,
BENN ot 7 s R IR LSS PR =120 N

. I3
(if} Finishing department

Oer ] Lueten) = (Refo B covniny, = Ached B, o

................................ (20290272 2.2 AR50 e

K

R

Examiner comments

The candidate uses incorrect
figures in both calculations by using
the total overhead cost in place of
the actual activity.

Mark for (d)(i) = 0 out of 3

Mark for (d)(ii) = 0 out of 3
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Example Candidate Responses — Paper 2

Example Candidate Response — low, continued Examiner comments
o e Candidate gives correct
calculations.

Mark for (e) = 1 out of 1

45



Example Candidate Responses — Paper 2

Example Candidate Response — low, continued

(g) Advise the directors which option they should choose. Justify your enswear by considering

both financial and non-financial factors,

B Hoe. Divecers. COneese. opbian.. A Teeay. saill Joave, . \ess. T

fo 04 ﬁ\mﬁgMWQMmﬂmmﬂLMQMf

o Trplagges Gol ot e el Dnetivaled. Sinoe. e, ave

Mere. sl Yoo, Cimaed - Hoawerse s ko Spien B ey e
Aduedising te.. oo “MMWMB-&LWE%‘%WW
ﬁjﬂ.gmg.ﬁmg,gtm,,ﬁgxﬁ:imm...Msm.mm...,pmdmk“.@ma:
hﬁﬁ;m@imh@mrz%mﬂmmmm&mmly
vy e ook Rixed Comls. alse. Mocrente. 1 e, Gopachy -
Bu?%"ﬁrmk%&g%ﬂ@pm%ﬂ?%ﬁm&m
L

Examiner comments

e The candidate makes some
calculation errors, however own
figure marks for profit are given as
they have clearly displayed their
workings.

Mark for (f)(i) = 2 out of 3

Mark for (f)(ii) = 3 out of 6

0 The candidate gives clear
advice, however, they give very
vague answers for both financial
and non-financial aspects with
points just repeated from the
question.

Mark for (g) = 3 out of 7

Total mark awarded =
13 out of 30
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Example Candidate Responses — Paper 2

How the candidate could improve their answer

* (a) Clear definitions should have been given.

¢ (c) The candidate should have rounded the answer to two decimal places.

¢ (d) The correct formula should have been used.

* (f) The candidate should have been careful in calculations.

* (g) The candidate should have given both financial and non-financial points.

Common mistakes and guidance

* (a) The candidates should be clear on what a definition is.
¢ (c) Rounding errors are often made when rounding to two decimal places.

¢ (d) As with all calculations, the candidates should show all workings and be clear in labelling either under or over
absorbed.

* (e), (f) As with all calculations, the candidates should show all workings.
* (g) Clear advice was sometimes omitted and often the non-financial aspects were not considered in the answer.
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